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1. It does this by taking in carbon dioxide and releasing oxygen. (6 marks)
2. Farmers, ranchers, loggers and oil companies. (6 marks)
3. as animal food. (6 marks)
4. consumption (5 marks) 5. global (5 marks)

6. The rainforest of the Amazon region plays a vital part in controlling the world’s climate. (6 marks)
7. Clearing the areas will be harmful to the global environment. / Clearing the areas will be at the

expense of the future of the global environment. (6 marks)
8. c. growth (6 marks) 9. a. massive-tiny (6 marks)
10. palm (6 marks) 11. convert (6 marks)
12. World War Il (6marks)
13. the ways in which people use them (6 marks)
14. in (6 marks) 15. its ( 6 marks) 16. where (6 marks)
17. fight (6marks) 18. further ( 6 marks) 19. went (6 marks) 20. Thus (6 marks)
21. Where did you go on a school trip last year? / When did you go on a school trip to the Eden Project? /
How did you go to the Eden Project last year? (8 marks)
22.How long did you stay there? (8 marks)
23.What did you do? / Who did you listen to? / What did the environmentalist tell you about some
endangered plants? (8 marks)
24. Any logical answer is accepted. (8 marks)
25. | wish she would turn down her music. (8 marks)
26. The natural environment has been changed by elephants. (8 marks)
27. Loggers cut down trees in order to sell the wood. / In order to sell the wood, loggers cut down trees.
(8 marks)
28. He might have lived with an English family. / He might have been living with an English family.
(8 marks)
29. past simple tense (7 marks)
30. present simple / future (7 marks)
31. destroying (6 marks) 32. misread (6 marks) 33. weather (6 marks)
34. suffered (6 marks) 35. had worked (6 marks)

36. has been swimming / has swum (6 marks)
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38.In Syria, there is an increasing awareness about the importance of saving wild life. (8 marks)






